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1. …é“Û ï×õ¸Û¶Ûà ³ùÛÁõÛ ¸ÛÛé©ÛÛ¶ÛÛ Š©¸ÛÛþù¶Û …×•Ûé ¸Ûó¾ÛÛ¨Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. ©Û¾Û¶Ûé 
©Ûé¶Ûà ¸ÛéþùÛÉÛ “ÍÛä̧ ÛàÁõàýÛÁõ” …×•Ûé¶Ûà …×þùÛœ÷©Û …¶Ûé ”ÛÁéõ”ÛÁõ ¾ÛÛÜÐü©Ûà …Û¸ÛÈÛÛ¾ÛÛ× …ÛÈÛà ™öé. ©Û¾ÛÛÁéõ ›÷ÄõÁõà 
ÜÈÛ˜ÛÅÛ¶ÛÛé¶Ûà •Û¨Û©ÛÁõà …¶Ûé ¾ÛéÇÈÛ¨Ûà ¸ÛªÛïõ ©ÛíéýÛÛÁõ ïõÁõÈÛÛ¶Ûä× ™öé. 20   

ÜÈÛ•Û©ÛÛé …×þùÛœ÷©Û 
(`̀̀̀) 

”ÛÁéõ”ÛÁõ 
(`̀̀̀) 

ÈÛé̃ ÛÛ¨Û ¾ÛæÅýÛ @ ` 40 ÅÛé”Ûé 16,00,000 – 

  @ ` 42 ÅÛé”Ûé – 14,70,000 

¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û ¸Û¦ø©ÛÁõ @ ` 4 ¸ÛóÜ©Û ÜïõÅÛÛé …¶Ûé 4 ÜïõÅÛÛé …éïõ¾Ûþùà¥ø 6,40,000 – 

   @ ` 4.50 ¸ÛóÜ©Û ÜïõÅÛÛé …¶Ûé 4 ÜïõÅÛÛé …éïõ¾Ûþùà¥ø – 6,30,000 

¾Û›æ÷Áõà ¸Û¦ø©ÛÁõ @ ` 1 ¸ÛóÜ©Û ïõÅÛÛïõ …¶Ûé 5 ïõÅÛÛïõ …éïõ¾Ûþùà¥ø 2,00,000 – 

  @ ` 1.20 ¸ÛóÜ©Û ïõÅÛÛïõ …¶Ûé 4.50 ïõÅÛÛïõ …éïõ¾Ûþùà¥ø – 1,89,000 

˜ÛÜÅÛ©Û ¸Û¦ø©ÛÁõ @ ` 1.60 ¸ÛóÜ©Û ïõÅÛÛïõ …¶Ûé 5 ïõÅÛÛïõ …éïõ¾Ûþùà¥ø 3,20,000 – 

  @ ` 2  ¸ÛóÜ©Û ïõÅÛÛïõ …¶Ûé 4.50 ïõÅÛÛïõ …éïõ¾Ûþùà¥ø – 3,15,000 

ÜÍ¬ÛÁõ ¸Û¦ø©ÛÁõ @ ` 2 ¸ÛóÜ©Û ïõÅÛÛïõ 80,000 – 

  @ ` 2.40 ¸ÛóÜ©Û ïõÅÛÛïõ – 84,000 

   ïäõÅÛ ¸Û¦ø©ÛÁõ 12,40,000 12,18,000 
 

 X Company Limited has followed Standard Costing System for its production. You are 

provided budgeted and actual information pertaining to its product “Superior”. You are 

asked to calculate necessary variances and also prepare reconciliation statement : 

Particulars 
Budgeted 

(`̀̀̀) 

Actual 

(`̀̀̀) 

Sales value @ ` 40 per unit 16,00,000 – 

  @ ` 42 per unit – 14,70,000 

Material cost @ ` 4 per kg & 4 kg. per unit 6,40,000 – 

   @ ` 4.50 per kg & 4 kg per unit – 6,30,000 

Labour Cost @ ` 1 per hour & 5 hours per unit 2,00,000 – 

  @ ` 1.20 per hour & 4.50 hours per unit – 1,89,000 

Variable Overheads @ ` 1.60 per hour & 5 hours per unit 3,20,000 – 

    @ ` 2 per hour & 4.50 hours per unit – 3,15,000 

Fixed Overheads @ ` 2 per hour 80,000 – 

   @ ` 2.40 per hour – 84,000 

   Total Cost 12,40,000 12,18,000 

…¬ÛÈÛÛ/OR 
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1. (a) ÜÈÛ˜ÛÅÛ¶ÛÛé¶Ûà ÜÐüÍÛÛ¼Ûà ¶ÛÛêµÛ …×•Ûé¶Ûà …éïõÛïõà ýÛÛé›÷¶ÛÛ ÍÛ¾Û›ÛÈÛÛé. 10 
  Explain single plan method of accounting for variances. 

 (b) …ÛýÛÛé›÷¶Û …¶Ûé ïõÛ¾Û•ÛàÁõà ÜÈÛ˜ÛÅÛ¶Û …¶Ûé ÄõÜ§ø•Û©Û ÜÈÛ˜ÛÅÛ¶ÛÛé ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û Í¸ÛÌ¤ø ïõÁõÛé. 5 
  Distinguish between planning and operating variances and conventional variances. 

 (c) ÅÛÛ•Û©Û ÜÈÛ˜ÛÅÛ¶ÛÛé¶Ûà ©Û¸ÛÛÍÛ …×•Ûé¶Ûä× ïõÛé̂ ¸Û¨Û …éïõ ¾ÛÛé¦øÅÛ ÍÛ¾Û›ÛÈÛÛé. 5 
  Explain any one method of Cost Variance Investigation. 

 

2. (a) …é“ÛÈÛÛýÛ¡éö¦ ï×õ¸Û¶Ûà ³ùÛÁõÛ …éïõ ¶ÛÈÛà ¸ÛéþùÛÉÛ ÜÈÛïõÍÛÛÈÛÈÛÛ¾ÛÛ× …ÛÈÛà ™öé. ï×õ¸Û¶Ûà Ýïõ¾Û©Ûø Ü¶ÛµÛÛÙÁõ¨Û 
…×•Ûé¶Ûà ¶ÛàÜ©Û …×•Ûé Ü³ùµÛÛ …¶Ûä½ÛÈÛé ™öé. ï×õ¸Û¶Ûà¶Ûé ýÛÛé•ýÛ Ýïõ¾Û©Û Ü¶ÛµÛÛÙÁõ¨Û …×•Ûé¶Ûà ¶ÛàÜ©Û …×•Ûé 
ÍÛÅÛÛÐü …Û¸ÛÛé. 10  

  XYZ Company limited has developed one new product, the management of the 

company is facing dilemma for selection of pricing policy. Advise the company for 

selection of proper pricing policy. 

 (b) ÈÛé̃ ÛÛ¨ÛÝïõ¾Û©Û ¶Û‘õà ïõÁõ©Ûà ÈÛ”Û©Ûé …ÍÛÁõ ïõÁõ©ÛÛ× ¸ÛÜÁõ¼ÛÇÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 10 
  Discuss about those factors which are having significant influence over 

determination of selling price. 

…¬ÛÈÛÛ/OR 

2. (a) …é¼ÛàÍÛà ï×õ¸Û¶Ûà ÜÅÛ¾Ûà¤éø¦ø ³ùÛÁõÛ ˜ÛÜÅÛ©Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û …ÛµÛÛÁõà©Û …íéÜ©ÛÐüÛÜÍÛïõ ¸Û¦ø©ÛÁõ¶Ûä× ¸ÛªÛïõ ÈÛÌÛÙ 
2013 ¾ÛÛ¤éø¶Ûä× ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé …Û¸ÛÈÛÛ¾ÛÛ× …ÛÈÛéÅÛ ™öé : 10 

   

ÜÈÛ•Û©ÛÛé `̀̀̀ `̀̀̀ 

 ÈÛé̃ ÛÛ¨Û  66,000 

¼ÛÛþù : ¸Ûó©ýÛ“Û ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 16,000  

  ¸Ûó©ýÛ“Û ¾Û›æ÷Áõà 8,000  

  ˜ÛÜÅÛ©Û ÜÉÛÁõÛȩ́ ÛÁõà ”Û˜ÛÛÙ 6,000 30,000 

  ºõÛÇÛé  36,000 

¼ÛÛþù : ÜÍ¬ÛÁõ Š©¸ÛÛþù¶Û ”Û˜ÛÙ (ïäõÅÛ ˜ÛÜÅÛ©Û ¸Û¦ø©ÛÁõ ¸ÛÁõ …ÛµÛÛÁõà©Û ™öé.)  10,000 

  26,000 

¼ÛÛþù : Ü¼Û¶Û Š©¸ÛÛþùïõàýÛ ÜÉÛÁõÛȩ́ ÛÁõà ”Û˜ÛÛÙ (ïõÛÁõ”ÛÛ¶ÛÛ ¸Û¦ø©ÛÁõ ¸ÛÁõ …ÛµÛÛÁõà©Û ™öé.)  4,000 

   ¶ÛºõÛé  22,000 
   

  ÈÛÌÛÙ 2014 ¾ÛÛ¤éø …éïõ ”ÛÛÍÛ …Ûé¦ÙøÁõ ¾ÛÇÈÛÛ¶Ûà ÍÛ×½ÛÛÈÛ¶ÛÛ ™öé. ˜ÛÜÅÛ©Û ¸Û¦ø©ÛÁõ …×•Ûé¶ÛÛé …×þùÛ›÷ ¶Ûà˜Ûé 
¸Ûó¾ÛÛ¨Ûé ™öé : 

     `̀̀̀ 

   ¸Ûó©ýÛ“Û ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 60,000 

   ¸Ûó©ýÛ“Û ¾Û›æ÷Áõà 30,000 

   ˜ÛÜÅÛ©Û ÜÉÛÁõÛȩ́ ÛÁõà ”Û˜ÛÛÙ     12,000 

                                1,02,000  

  µÛÛÁõ¨ÛÛ : ¶ÛºõÛ¶ÛÛ þùÁõ¾ÛÛ× ïõÛé̂  ºéõÁõºõÛÁõ …¸ÛéÜ“Û©Û ¶Û¬Ûà. ›÷é ÈÛé̃ ÛÛ¨Û ¸ÛÁõ …ÛµÛÛÁõà©Û ™öé. 
  ï×õ¸Û¶Ûà¶ÛÛé ÐüÁõàºõ …Û ¸ÛéþùÛÉÛ ` 2,30,000 ¾ÛÛ× …Û¸ÛÈÛÛ ¾ÛÛ¤éø ©ÛíéýÛÛÁõ ™öé. ©Û¾Û¶Ûé …éÈÛä× ÅÛÛ•Ûé ™öé ïéõ 

ï×õ¸Û¶Ûà …Û …Ûé¦ÙøÁõ ` 2,30,000 ïõÁõ©ÛÛ× …Ûé™öà Ýïõ¾Û©Ûé …Û¸ÛÈÛÛ ÍÛ¾Û¬ÛÙ ™öé ? 
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  ABC Company Limited has provided the following historical income statement as 

per variable cost system for the year ending 2013 : 

Particulars `̀̀̀ `̀̀̀ 

Sales  66,000 

Less :  Direct Material 16,000  

  Direct Labour 8,000  

  Variable Overheads 6,000 30,000 

  Contribution  36,000 

Less : Fixed Production Overheads (based on total variable cost)  10,000 

  26,000 

Less : Non-Manufacturing Overheads (based on works cost)  4,000 

   Profit  22,000 

  For the year 2014 one special order is expected to be received. The estimate of 

Variable Cost is as follows : 

     `̀̀̀ 

   Direct Material 60,000 

   Direct Labour 30,000 

   Variable Overheads     12,000 

                                1,02,000  

  Assumption : No change in profit rate is expected, which is based on total sales. 

The competitor of the company is prepared to supply this product at ` 2,30,000. Do 

you think that company is able to accept this order below ` 2,30,000 ? 

 (b) …Ûé¾Ûé“Û ˆÅÛéî¤Öøàïõ ï×õ¸Û¶Ûà ¸ÛÛÍÛé ¸ÛÛé©ÛÛ¶Ûà ˆÅÛéî¤Öøàïõ ¸ÛéþùÛÉÛ …×•Ûé ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé¶Ûä× ¸Û¦ø©ÛÁõ ¾ÛÛÇ”Ûä× ™öé : 10 

       `̀̀̀ 

   ¸Ûó©ýÛ“Û ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 150 

   ¸Ûó©ýÛ“Û ¾Û›æ÷Áõà 225 

   ˜ÛÜÅÛ©Û ÜÉÛÁõÛȩ́ ÛÁõà ”Û˜ÛÛÙ            90 

                                       465 

  ïäõÅÛ ÜÍ¬ÛÁõ ”Û˜ÛÛÙ ` 36,00,000 ¶ÛÛ ™öé. 

  (i) ¶ýÛæ¶Û©Û¾Û ÈÛÇ©ÛÁõ¶ÛÛé þùÁõ ïõÁõÈÛéÁõÛ ¸Û™öà¶ÛÛé ˜ÛÛé””Ûà Ü¾ÛÅÛïõ©ÛÛé ¸ÛÁõ 20%.  

  (ii) ïäõÅÛ Ü¾ÛÅÛïõ©ÛÛé ` 61,00,000 ¶Ûà ™öé, ›÷é¾ÛÛ× …ÈÛÛÍ©ÛÜÈÛïõ Ü¾ÛÅÛïõ©ÛÛé ` 1,00,000 ¶Ûà ÍÛ¾ÛÛýÛéÅÛ 
™öé. Š™öà¶ÛÛ ½Û×¦øÛéÇÛé ` 20,00,000 ™öé. 

  (iii) ïõÛȩ́ ÛÛëÁéõ¤ø ïõÁõÈÛéÁõÛ¶ÛÛé þùÁõ 40% ™öé. 

  (iv) …¸ÛéÜ“Û©Û Š©¸ÛÛþù¶Û 20,000 …éïõ¾ÛÛé ™öé. 

  •Û¨Û©ÛÁõà ïõÁõÛé : ïäõÅÛ ÈÛé̃ ÛÛ¨Û¾ÛæÅýÛ …¶Ûé …éïõ¾Ûþùà¥ø ¸Û¦ø©ÛÁõ. 
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  Omax Electric Company has the following cost structure for an electric product : 

        `̀̀̀ 

   Direct Material per unit 150 

   Direct Labour per unit 225 

   Variable Overheads            90 

                                       465 

  Total Fixed Overheads are ` 36,00,000. 

  (i) The expected minimum rate of return is 20% after tax on net assets. 

  (ii) Total assets are of ` 61,00,000 inclusive of fictitious assets of ` 1,00,000 & 

borrowed funds are of ` 20,00,000. 

  (iii) Corporate tax rate is 40%. 

  (iv) Expected production is 20,000 units. 

  Calculate : Total Sales value and per unit selling price. 

 

3. ïõÛ¾Û•ÛàÁõà ¾ÛÛ¸ÛÈÛÛ¶Ûà Áõà©ÛÛé ©ÛÁõàïéõ ÁõÛéïõÛýÛéÅÛà ¾Ûæ¦øà ¸ÛÁõ ÈÛÇ©ÛÁõ¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛÛé. ºéõÁõ¼ÛþùÅÛà Ýïõ¾Û©Û ÉÛÛ 
¾ÛÛ¤éø …¸Û¶ÛÛÈÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ?  20 

 Explain the concept of return on investments as a technique to measure of performance 

of business. Why is transfer pricing adopted ? 

…¬ÛÈÛÛ/OR 

3. •Û¾Ûé ©Ûé ¼Ûé ¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé :  20 

 Write any two : 

 (a) ¶ÛºõÛÅÛ“Ûà ïéõ¶®ùÛé …é¤øÅÛé ÉÛä× ? ©Ûé¶ÛÛ ºõÛýÛþùÛ…Ûé …¶Ûé ¾ÛýÛÛÙþùÛ…Ûé ›÷¨ÛÛÈÛÛé.   

  Define Profit Centres. State its merits and demerits. 

 (b) Í¸ÛµÛÛÙ©¾Ûïõ Ü¶ÛÉÛÛ¶ÛàïõÁõ¨Û (¼Ûé¶˜Û ¾ÛÛÜïÚõ•Û)¶ÛÛé …¬ÛÙ …¶Ûé ¸ÛóÜ’õýÛÛ ÍÛ¾Û›ÛÈÛÛé. 

  Explain the term Bench-marking and state its process. 

 (c) “ÈýÛæÐüÛ©¾Ûïõ ÍÛ×̃ ÛÛÅÛïõàýÛ ÜÐüÍÛÛ¼Ûà ¸Û±ùÜ©Û” ÜÈÛÉÛé ÅÛ”ÛÛé. 

  Write a note on “Strategic Management Accounting system.” 

 

4. (a) ÍÛÅÛÛ¾ÛÜ©Û¶ÛÛé •ÛÛÇÛé …é¤øÅÛé ÉÛä× ? ©Ûé¶Ûä× ¾ÛÐü«ÈÛ ÍÛ¾Û›ÛÈÛÛé …¶Ûé ÍÛÅÛÛ¾ÛÜ©Û¶ÛÛ •ÛÛÇÛ¾ÛÛ× ÍÛäµÛÛÁõÛé ÅÛÛÈÛ©ÛÛ 
›ä÷þùÛ ›ä÷þùÛ ÜÈÛïõÅ¸ÛÛé ˜Û˜ÛÛë.  10 

  What is Margin of safety ? Explain its significance and discuss different options 

which bring improvement in margin of safety. 

 (b) ÍÛ¾Û©Ûæ¤øÝ¼Ûþäù ÜÈÛÉÅÛéÌÛ¨Û¶Ûà µÛÛÁõ¨ÛÛ…Ûé¶Ûä× ¤øàïõÛ©¾Ûïõ Áõà©Ûé ¾ÛæÅýÛÛ×ïõ¶Û ïõÁõÛé. 10 

  Critically evaluate assumptions of Break Even Analysis. 

     …¬ÛÈÛÛ/OR 
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4. (a) …é“Û ÜÅÛÜ¾Û¤éø¦ø ªÛ¨Û ¸ÛéþùÛÉÛÛé ¼Û¶ÛÛÈÛé ™öé …¶Ûé ÜÐüÍÛÛ¼Ûà ˜ÛÛȩ́ Û¦øÛ…Ûé¾ÛÛ×¬Ûà ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé¶Ûà ÜÈÛ•Û©ÛÛé 
¾ÛéÇÈÛÈÛÛ¾ÛÛ× …ÛÈÛà ™öé :  15 

¸ÛéþùÛÉÛÛé 
             ÜÈÛ•Û©ÛÛé 

…é“Û ÈÛÛýÛ ¡éö¦ø 

ÈÛé̃ ÛÛ¨Û Ü¾ÛËÛ (¤øïõÛÈÛÛÁõà¾ÛÛ×) 35 35 30 

ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û (` ¾ÛÛ×) 30 40 20 

˜ÛÜÅÛ©Û ”Û˜ÛÙ (…éïõ¾Û þùà¥ø ` ¾ÛÛ×) 15 20 12 

     ` 

  ïäõÅÛ ÜÍ¬ÛÁõ ”Û˜ÛÛÙ 5,40,000 

  ïäõÅÛ ÈÛé̃ ÛÛ¨Û  18,00,000  

  ï×õ¸Û¶Ûà ³ùÛÁõÛ …¶ýÛ ¸ÛéþùÛÉÛ “îýÛä”, ¡éö¦ø ¸ÛéþùÛÉÛ¶ÛÛ Í¬ÛÛ¶Ûé ¼Û¶ÛÛÈÛÈÛÛ¾ÛÛ× …ÛÈÛéÅÛ ™öé. ©Ûé …¶ÛäÍÛ×µÛÛ¶Û¾ÛÛ× 
¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé …×þùÛ›Ûé ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛéÅÛ ™öé. 

¸ÛéþùÛÉÛÛé 
        ÜÈÛ•Û©ÛÛé 

…é“Û ÈÛÛýÛ îýÛä 

ÈÛé̃ ÛÛ¨Û Ü¾ÛËÛ (¤øïõÛÈÛÛÁõà¾ÛÛ×) 45 25 30 

ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û (` ¾ÛÛ×) 30 40 30 

˜ÛÜÅÛ©Û ”Û˜ÛÛÙ (…éïõ¾Û þùà¥ø ` ¾ÛÛ×) 15 20 15 

  ÜÍ¬ÛÁõ ”Û˜ÛÛÙ …¶Ûé ÈÛé̃ ÛÛ¨Û¾ÛÛ× ïõÛé̂  ºéõÁõºõÛÁõ …¸ÛéÜ“Û©Û ¶Û¬Ûà. ©Û¾Ûé …éÈÛä× ¾ÛÛ¶ÛÛé ™öÛé ïéõ ¸ÛéþùÛÉÛ ¼ÛþùÅÛÈÛÛ 
…×•Ûé¶ÛÛé Ü¶Û¨ÛÙýÛ ÍÛÅÛÛÐü ½ÛÁéõÅÛ ™öé ? ©Û¾ÛÛÁõÛé ›÷ÈÛÛ¼Û ÍÛ¾Û›ÛÈÛÛé. 

  X Limited manufactures three products and the following information is available 

from the books of accounts : 

Products 
Particulars 

X Y Z 

Sales Mix (in %) 35 35 30 

Selling price (in `) 30 40 20 

Variable cost (per unit in `) 15 20 12 

     `̀̀̀ 
  Total Fixed Cost 5,40,000 

  Total Sales  18,00,000  

  Another product “Q” is developed by the company to replace product “Z”. In this 

context the following estimates are made : 

Products 
Particulars 

X Y Q 

Sales Mix (in %) 45 25 30 

Selling price (in `) 30 40 30 

Variable cost (per unit in `) 15 20 15 

  No change is estimated for fixed cost and sales. Do you think that the replacement 

decision is advisable ? Explain your answer. 
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 (b) ˜ÛÛÈÛàÄõ¸Û ¸ÛÁõà¼ÛÇ¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛÛé.  5 

  Explain the concept of Key Factor. 
 

5. (a) …éïõ ï×õ¸Û¶Ûà¶ÛÛ 2013 ¶ÛÛ ÈÛÌÛÙ¶ÛÛ ¸Ûó¬Û¾Û 6 ¾ÛÛÍÛ¶ÛÛ ¾ÛÁõÛ¾Û©Û …¶Ûé ›ÛÇÈÛ¨Ûà ÜÈÛ½ÛÛ•Û¶ÛÛ ”Û˜ÛÙ¶Ûà 
ÜÈÛ•Û©ÛÛé ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé :  15 

   

¾ÛÛÍÛ Š©¸ÛÛþù¶Û¶ÛÛ ¸Ûó¾ÛÛ¨Û ïõÅÛÛïõÛé ¾ÛÁõÛ¾Û©Û ”Û˜ÛÙ (`̀̀̀) 

›Û¶ýÛä…ÛÁõà 144 960 

ºéõ¼Ûóä…ÛÁõà 138 960 

¾ÛÛ˜ÛÙ 150 970 

…éÜ¸ÛóÅÛ 162 990 

¾Ûé 120 886 

›æ÷¶Û 172 1,050 

  ¶ýÛæ¶Û©Û¾Û ÈÛ•ÛÙ¶Ûà ¸Û±ùÜ©Û¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõà¶Ûé ÜÍ¬ÛÁõ ”Û˜ÛÙ¶Ûà …×þùÛœ÷ Áõïõ¾ÛÛé ¶Û‘õà ïõÁõÛé. ›ä÷ÅÛÛˆ 2013 
¾ÛÛ¤éø 180 Š©¸ÛÛþù¶Û¶ÛÛ ¸Ûó¾ÛÛ¨Û ïõÅÛÛïõÛé¶ÛÛ ¾ÛÁõÛ¾Û©Û …¶Ûé ›ÛÇÈÛ¨Ûà ”Û˜ÛÙ¶Ûà …×þùÛœ÷ Áõïõ¾Û¶Ûà 
•Û¨Û©ÛÁõà ïõÁõÛé.  

  Costs in the Repairs and Maintenance department of a new company in the first six 

months of the year 2013 have been recorded as follows : 

Month Standard Production Hours Repair Costs (`̀̀̀) 

January 144 960 

February 138 960 

March 150 970 

April 162 990 

May 120 886 

June 172 1,050 

  Use the least square technique to estimate the fixed and variable costs. What would 

be the budgeted estimate for repairs and maintenance of output of 180 standard 

production hours is predicted for July, 2013 ? 

 (b) ¶Ûà˜Ûé¶ÛÛ ¸ÛþùÛé ÍÛ¾Û›ÛÈÛÛé.  5 

  Explain the following terms : 

  (i) ˆÌ¤ø©Û¾Û ŠïéõÅÛ 
   Optimal Solution 

  (ii) …ÈÛÁõÛéµÛÛé¶ÛÛé …¬ÛÙ 
   Meaning of Constraints 

    …¬ÛÈÛÛ/OR 
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5. …Ûˆ¸Ûà…éÅÛ ¼Ûé ÈÛÍ©Ûä…Ûé ‘…’ …¶Ûé ‘¼Û’ ¶Ûä× Š©¸ÛÛþù¶Û ïõÁéõ ™öé. ‘…’ ÈÛÍ©Ûä¶ÛÛé …éïõ¾Ûþùà¥ø ºõÛÇÛé ` 27 …¶Ûé 
‘¼Û’ ÈÛÍ©Ûä¶ÛÛé ºõÛÇÛé …éïõ¾Ûþùà¥ø ºõÛÇÛé ` 15 ™öé. ‘…’ ÈÛÍ©Ûä ¾ÛÛ¤éø ¾ÛÉÛà¶Ûá•Û¶ÛÛé ÍÛ¾ÛýÛ 6 ïõÅÛÛïõ ™öé, šýÛÛÁéõ 
‘¼Û’ ÈÛÍ©Ûä ¾ÛÛ¤éø 12 ïõÅÛÛïõ ™öé. ‘…’ ÈÛÍ©Ûä ¾ÛÛ¤éø •ÛóÛˆÝ¶¦ø•Û¶ÛÛé ÍÛ¾ÛýÛ 6.75 ïõÅÛÛïõ¶ÛÛé ™öé. šýÛÛÁéõ ‘¼Û’ ÈÛÍ©Ûä 
¾ÛÛ¤éø 6 ïõÅÛÛïõ¶ÛÛé ™öé. ¾ÛÉÛà¶Ûá•Û¶ÛÛ ïäõÅÛ 60,000 ïõÅÛÛïõÛé ©Û¬ÛÛ •ÛóÛˆÝ¶¦ø•Û¶ÛÛ 54,000 ïõÅÛÛïõÛé ¸ÛóÛ¸ýÛ ™öé. 
‘…’ ¶ÛÛ …éïõ …éïõ¾Û ¾ÛÛ¤éø 15 ÜïõÅÛÛé …¶Ûé ‘¼Û’ ¶ÛÛ …éïõ …éïõ¾Û ¾ÛÛ¤éø 24 ÜïõÅÛÛé ¾ÛÛÅÛ¶Ûà ›÷ÄõÁõàýÛÛ©Û ™öé. 
ï×õ¸Û¶Ûà¶Ûà ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û¶Ûà ”ÛÁõàþùà 1,80,000 ÜïõÅÛÛé ÍÛäµÛà ¾ÛýÛÛÙÜþù©Û ™öé. 

 ºõÛÇÛé ¾ÛÐü«Û¾Û ïõÁõÈÛÛ ¾ÛÛ¤éø ÍÛäÁéõ”Û …ÛýÛÛé›÷¶Û¶Ûà …ÛÅÛé”Û ¸Û±ùÜ©Û ³ùÛÁõÛ ‘…’ …¶Ûé ‘¼Û’ ¶Ûä× ˆÌ¤ø Ü¾ÛËÛ¨Û 
¶Û‘õà ïõÁõÛé. õ    20 

 IPL manufactures two products ‘A’ & ‘B’. The contribution per unit for product ‘A’ is             

` 27 and ` 15 for product ‘B’. One unit of ‘A’ requires 6 hours of machining and one 

unit of ‘B’ needs 12 hours of machining. Each unit of ‘A’ and ‘B’ requires 6.75 hours 

and 6 hours respectively for grinding. The total hours available for machining and 

grinding are 60,000 and 54,000 respectively. The requirement of direct material per each 

unit of ‘A’ and ‘B’ is 15 kg and 24 kg respectively. The availability of material is 

1,80,000 kgs. Determine the optimal combination of ‘A’ and ‘B’ to maximize the 

contribution using graphical method of linear programming. 

 

_____________ 
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